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=7 A7t = z= = ze =0 | z= [ zu | ==
1 = 2,852,147 | 499,027 212,654 40,393 -3.1 -15.5 28.7 22.3
2 o|= 1,995,417 | 363,595 152,694 31,218 -14.2 -4.6 -8.4 3.8
3 &3 854,197 | 135,150 63,295 11,007 -9.0 -5.6 39.3 40.4
4 M| £ 850,359 | 125,915 62,743 8,980 4.4 -7.2 20.7 6.4
5 ol | Ao} 729,056 | 105,682 54,599 8,002 17.8 6.7 16.4 12.5
6 o 682,418 98,863 50,841 8,842 -12.4 -2.0 -3.2 18.5
7 OtEtollm|2|E A gf 339,770 57,724 29,492 5,102 -8.8 -5.9 -2.8 9.3
8 el 293,632 53,463 18,386 3,692 11.6 11.2 -13.9 -5.9
9 o 22t 266,345 42,797 18,719 2,795 -0.2 ~7.4 -10.0 -19.9
1 AbElot2tH| o} 258,276 44,355 21,466 3,660 -13.7 -15.4 -0.1 1.0
11 E{7| 234,610 52,140 21,344 4,163 -17.4 -23.6 0.4 -16.3
12 = 222,905 53,919 24,449 6,224 -5.6 5.4 55.3 33.5
13 o| k2ot 152,863 35,151 15,311 3,665 -5.2 -6.8 27.2 28.2
14 Ef = 146,200 29,984 11,284 2,430 -3.7 -4.3 12.9 26.7
15 cH ek 143,898 35,332 10,241 2,446 -13.7 -13.5 7.9 -11.9
16 = 141,362 38,574 10,839 3,049 -13.2 5.0 19.5 10.9
17 2{Alof ot 141,139 46,560 12,205 4,309 -7.7 -5.5 14.0 41.6
18 Cle= e (PN 136,769 21,744 9,571 1,514 -9.7 -18.5 10.6 -10.0
19 ZA 135,283 16,529 14,182 1,878 -18.9 -17.4 43.3 61.6
20 = 131,264 27,767 10,861 2,367 -4.2 -0.3 11.2 -6.4
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=N s 457,856 68,580 =N s =9 s&

1 £ 4,901,106 793,290 457,856 68,580 26.9 16.7 21.1 21.4
2 o| Etz| o} 476,950 9,742 40,809 564 13.3 12.8 17.6 -30.6
3 A= 422,740 59,400 34,896 4,882 -0.8 -2.2 11.5 26.4
4 olC|oH(2lx) 287,304 94,169 25,081 8,185 11.6 3.7 12.8 7.9
5 ol =L Al o} 251,750 87,299 22,729 7,950 19.2 3.0 19.4 12.1
6 o|= 219,407 25,088 17,672 2,323 -7.4 —26.4 5.4 10.5
7 HI £ = 192,006 59,262 21,462 5,808 30.6 28.6 53.4 65.5
8 cHok 158,975 71,958 14,893 6,867 10.9 18.8 39.9 49.8
9 Ef = 124,064 30,227 9,182 2,081 -3.8 -11.9 -2.7 -17.9
10 7| AEt 122,470 57,024 8,665 3,999 -1.4 -9.6 -6.7 -8.9
11 = 113,836 1,363 11,067 119 271 10.3 37.0 36.3
12 A= 79,949 9,190 5,915 536 -11.8 -8.0 -12.1 -50.7
13 =] 73,959 6,849 6,491 633 -1.9 -3.6 30.9 18.6
14 £3 71,361 2,393 6,760 144 9.0 -20.8 0.5 -40.1
15 QAEZ|of 58,265 21,096 5,534 1,954 5.7 3.7 72.9 71.8
16 2r2f o| X| o} 45,540 15,190 4,211 1,002 1.8 -16.5 22.6 -0.8
17 E{ 7| 37,803 2,467 3,141 97 62.1 28.0 21.7 -31.4
18 HEet= 36,817 2,488 4,274 243 41.3 2.9 60.1 12.0
19 Fttct 28,627 4,447 2,320 343 -15.3 -14.4 26.3 23.2
20 A ¢l 25,466 2,044 2,138 113 23.1 29.4 -0.7 -47.6




